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9.141 p = 7,850 kg/m’

m=pV O 4%, @ Y7E, @ 9% 7
my = p W
= (7,850 kg/m®) [r (0.08 m)? (0.04 m)]
= 6.313 kg
my = p V, = (7,850 kg/m*) [« (0.02 m)* (0.06 m)] = 0.5919 kg
my = p V3 = (7,850 kg/m?) [x (0.02 m)* (0.04 m)] = 0.3946 kg

1
@ L, = 45 m (B3ri4+ 4L}

= 11_2(6-313 ko)[3 (0.08 m)? + 4 (0.04 m)?] = 13.467x107° kgm?

1
1;[2 = E mQ (37”22 + 4L22)

= 11—2(0.5919 kg)[3 (0.02 m)* + 4 (0.06 m)*] = 0.7695<107 kgm?

1
Ly = 75 my Brg + 4Ly

0.2499%x107° kgm?*

= 11—2(0.3946 kg)[3 (0.02 m)? + 4 (0.04 m)?]

I, =1, + Ly = Iy
[(13.467) + (0.7695) - (0.2499)1x10™ kgm® = 13.9886x107° kgm”

=> I, = 13.99x107 kgm?
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(b) 1, = 9 M ri
- %(6.313 kg) (0.08 m)? = 20.20%<10 kegm®
I, = lm rE o+ myds
Y2 9 M2 72 2 g
= %(0.5919 kg) (0.02 m)? + (0.5919 kg) (0.04 m)* = 1.0654x107° kgm?
L, = lm Ty o+ mydy
Y3 o M3 73 3 a3
= %(0.3946 kg) (0.02 m)? + (0.3946 kg) (0.04 m)*> = 0.7103x107° kgm?
I, = 1, + Ly = Iy
= [(20.20) + (1.0654) - (0.7103)1x107® kgm? = 20.5551x107° kgm?
= I, = 20.6<107 kg:m®
(c) I, = I, = 13.467x107° kgm?
I, = img (3rf + 4L + myds

12
= (0.7695%107° kgm? + (0.5919 kg) (0.04 m)? = 1.7165%X107° kgm?

1
Ly = Em3 (3r32+4L32) + my d32

(0.2499%x107 kgm? + (0.3946 kg) (0.04 m)* = 0.88126x107 kg:m®

L =1L, + [, — Ly

[(13.467) + (1.7165) - (0.88126)1x107° kgm?* = 14.3022x107° kgm?
= I = 14.30x107% kgm?



